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Listening and Reading tests

Notes on the Mark Scheme

Non-verbal answers
Follow the mark scheme as set out.

Verbal answers (English or target language)

1. The basic principle of assessment is that students should gain credit for what they know, understand and
can do; provided their written response communicates the required message without ambiguity, it will get the
mark. The following guidance should be borne in mind when marking.

A. Credit should be given for all answers which convey the key idea required intelligibly and without
ambiguity. This applies whether the answer is in English or in the target language. A separate
assessment of spelling, punctuation and grammar is not required on these papers because of the
nature of the answers. However, these aspects are an integral part of assessing communication and
marks cannot be awarded where errors in spelling, punctuation or grammar lead to a failure to
communicate the required information without ambiguity.

B. Where a student has given alternatives or additional information in an answer, the following criteria
should be applied: - if the alternative/addition does not contradict the key idea or make it ambiguous,
accept - If the alternative/addition contradicts the key idea or makes it ambiguous, reject.

C. Where numbered lines are given within a question/section of a question, credit should be given for
correct answers, no matter which line they appear on.

2. In questions where students are asked to give, for example, a list of three items, only the first three items
they write down should be considered.

3. No mark scheme can cover all possible answers. When in doubt, look for the key idea, where this is
appropriate.

4. Where a student has crossed out an answer and what was underneath remains legible then it should be
marked. When part of an answer is crossed out, then only what remains should be considered.

5. .../..Means that these are acceptable alternative answers. (.....) Means that this information is not needed for
full marks.

6. The following general principles should be applied:

Incorrect personal pronouns — accept (unless this causes ambiguity)

Incorrect possessive adjectives — accept (unless this causes ambiguity)

Wrong gender — accept (unless this causes ambiguity)

Infinitive — will normally communicate without ambiguity, so should be accepted

Wrong tense — accept as long as student comprehension is not in question.

Minor spelling errors — accept as long as the answer is understandable with no ambiguity. In the target
language (TL) questions and answers sections, this means that even if the spelling error results in the
creation of a word in another language, including English, then, provided it is a recognisable attempt at
a spelling in the TL, it will get the mark.
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GCSE Modern Hebrew Listening exemplar work

Foundation Tier - Question 20

pabv nnw
N7 7900 722 DY T NINW 210N 5y 79 9901 DNOIT TOW 9NN 130N

HOINa

DY 92¥T NINY DONWIN ONY

| 1

vNoL | 2

nmann| 3

Sow | 4

TN | 5

n>ran| 6

oMVTN OINN| 7
VNP | 8

MEIWNI OMNNDN 090070 INIIND

[4 marks]
Transcript

SNIDITZ YOI PN NVAIN MIVD .0Z1YA DMV NP D210 PIND 1900 1Y Y 53
722 1772 .0W) T NI DI 0, INAT YR TN DYWARY TN 70N N2 Son
NITYN MDHNN 92321 NI DIDIDIVIND NYDI XD DY MINMVDNI D2VND MMPHRN
VD NI X220 D DT NI TN NOION N0 1O NIV P 217 2312 105D

MZXN22 2IMNTD PNYNa MaND

M1 20

Mark Scheme
Qu Accept Mark
20 | 356 7 (inany order) 4
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Higher Tier Listening - questions 26 and 27

MyTIin
JNIYID DWONN NNT MYTIND 12dVPEN

2T NYTIN 92 NNANM YD NN DY 1IN0

mIaya Ny
DINOLIN $NONT
[1 mark]
[2]7]
[1 mark]
Transcript
DY 900 I8N KX NADIN 2N ONY DWONN 525 NYTIN YN M1 26
A1 12 NAWHN NTYA MPT NN TV DNN NNIX .DMVN 1271, 0PV M2 27
Mark Scheme
Qu Key idea Accept Reject Mark
26 namn 1
Qu Key idea Accept Reject Mark
27 olun X 1




AQAK

GCSE Modern Hebrew Reading exemplar work

Foundation Tier - Question 9

Section B Questions and answers in Modern Hebrew

NYA9NY WY AN

1N DN IMON NND YAMAINY AWITY ATINY 10N 29 DY NIN DVPOYN AN NP
JPaya mYNwn DY i PN

A1 99 NNNT AN DY DNy TR0 Na

JINY N L TANN SR

JIVAT AN Y M SINY

Sanb oy wabh oy aayt nam Tonn na

LD DM DAY NINY NP Nawn NN

- 70 Y NNNA TonN M3 A0
9¢, N o

[1 mark]

[2] N N 71D
d Y

[1 mark]

[3] (220499 53W) 191 MM 90N N3 NN

Pada (e
[2 marks]
.[4] (TN ©99) 73N DY NAYN TN N N

[1 mark]
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Mark Scheme

Qu Key idea Accept Reject Mark
09.1 | 7w "I T97/7W) 1
b} 5
09.2 | »y 1w X WWOIN 93 9N 1
wiaYr o mm = 1 D™
09.3 90N 2
51N o = 1 -
09.4 | DY NINW / N NINW 0% /7 20 NIY / N0 1
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Translation

Foundation Tier - Question 13

Section C Translation into English

Your Israeli friend has sent you an email telling you about an argument he had with his
parents. Your parents asked you to translate his message into English.

Ru) bl
120 NTIAY XixnD NH7 NN ON,TIN5D T8 AN DXI0IN W NN NAN
22w MaNM 020N 0OV ,D1 723 279772 PRI 2NN INY DN2 PIONN

A2 NPT N N DTN INN D M Nay mTnb N

[9 marks]

Mq maother and mérhar gcw | hooe \Co J/L’drh u: | cwoint

éo d@fc a 06:31 Jh. \ @&Jrojr}\fé M\QUQ
Lo o\a&l Coc:Hmll jﬁ%&g Wikh hy crionds

\ M mjt otk hecauce Gglor Sc}m\\mvx& do
a @Dfm\lo\\.

10
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Mark Scheme

player.

Qu Key idea Accept Reject Mark
DN W NONI NIN My father and mother/parents say 1
TINDY TN MINY that | need to study/to learn 1
TINYY N DN if | want 1
N0 NTIAY XIS to find a good job/work. 1
IINTD PNYY NN INY ON7 NN | told them that | like to play football Wrong tense 1
13 . .
every day, with my (girl and boy)
AW MNINM DM2ANN oY 0P Y2 friends. 1
7N SNTY N | didn’t study/learn for the exams Wrong tense 1
because after (I finish) school/my
DYTIN NN D studies 1
| want to be a footballer/a football
AMT NPAD NN OIN 1

11
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Higher Tier Reading - Question 12
[1]2] nNNN-NMN

N99 .9 .0 99100 INGD TRANNN-NTINT NDN 28T 2N NI YN

N7 JaN 1100 D022 INER 07 ,02007 3N WINWD DMV 1PN 0N P29 1) INeN) Nnow
N2 NI NONN-NMI 7% NIN 02w 297,039 127 NR2Y . N21N-NT0n 0N2 NNt
nan

OM2Y 772 MIN DN 22270, NN NP, 07100 NN N8 NID

DINDD D2IN INPY 902 ON2 7PN N2 2D 199N KDY P32 12w InwNY nnbe, 09 nnnw
NP2 2T N2 NINW NN P27 010 XN DTN WIN TRY NNY2 .N2TI AT W 0N
N DRI INWIITI NN NP2 XN ,N21INN-NT02 IN NN NI IWND 0N DxaN
"Ny

NN ATIZY MY D) NI 721N NP2 U212 7100 W2V ODIND 0O0nn DN o1 nnow
902

NINY w2312 NI .N2W0 NNAwHRN NYIN DY ) NINNK1 NR2Y 2w 130 .2N210 ¥10 TNN 0P
QN2 7w NNNNT NI NN

TIP3 DN VIENPT  NIVND2 MM I290 DN . NTN22 190 NN NRZY  INDND TINN
1721 DNV MY NNNN-NTNR DX INT 0N, INTINA OTNN TANT MM NN
IDNND MDD P,iaa

[1]2].[1] MONAN-INT HNOY YW 1PYIN NNMN AN

DOVID _haljd 26 pprin £

[1 mark]

2] VAN TN NNAY YT Ny NSV AN

DN Jd Oy C ~~3) D
[1 mark]

[1]2].[3] INONNN M INBY DT INUNI NNDY WIIN PN

Jble kS S IO D

[1 mark]

12



(4] NDWN NYY IDNIND WND D
DN e Hpd
[1 mark]

@

[1]2].[5] MITNOY WO NN NNOY NnY
. DIDHE 50 £

[1 mark]

.[8] NYY MIYLN MONNI-NINN NX N¥D DTV NTNTI NN
JJICH/ N
[1 mark]
Mark Scheme

Qu Key idea Accept Reject Mark
121 | monn-m71ns pr/nmn N9 9910 MY PN NN 1
12.2 | (P73 XNW) MW NONN-NMN KD NN 20N MM AN DA 1
12.3 | (52N IMPY U2 DN PN ND D) 0YY) oMY / DXNY 1
12.4 | o 0NaN MRS / NN NN INPY LN N 2% vIdNo 1
12.5 | (M0 Nnawnn NwaN DY) INNNN ONPY 120 7D NG 2NN P 0N D 1
12.6 | y1Na (0TNN TRND) VINNPY/NILNNI/PTINI 1

13



AQAK

Higher Tier Reading - Question 13

Translation

Your Israeli friend has sent you an email telling you about herself and her plans. Your
British friends have asked you to translate her message into English.

,Dow on
NN D, NYDI2NIND DY0AVNI NTIZ IN .DYVITIVD NPT NUYOINND T2 7Y N9 1IN
TRV PT NONMY NP NN

YNANN TIND .DYT2 PP MNNA NMTHI MNTIY ,DITINON IN NINDW NN, MIw 193
D90 DN 9909 DTN DY PRWD

V0 10701 DMWY I DINN DX IPANI 117N DION IN [ NNID VPN Dwaind

M

’H‘Qll [9 marks]
o

| ive nexd 4o the wn, with Sﬂluc'thrS. !Sjr%kj Vo 1 Ahe

uh|v€rs’\3t>4 hecause ) want 46 he a lawyer in the pudure

Las#uj@:w; apter school | work?in a sammer Canp for
hidren . | liked very much 4o oh»r With4he n\dvn,

Cif\& _e Vr—%&dl them glories. et Sumwxe\-\ﬂo chﬁ | will

waghe go do \eriovx vy visid %«e) priends thak lwve in down.

14
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Mark Scheme

a summer camp for children.

Qu Key idea Accept Reject Mark
NOYDININD T2 7Y 1IN | live next to the university 1
DPOIMVD NPT in a student flat/apartment. 1
,APDINNG DLV NTINT AN I Ie_arn/s_tudy Law in the sentences 1

university
IV PT ROMY APAY NN OIN D becaus_e | want to be a 1
lawyer in the future.
JDTIIN DN OTINDY MINN IV 297 A year ago/last year, after | 1
finished my studies,
13 D199 YD MIRBA APATED SNTAY | worked as a guide/leader in 1

D0 0N 1907 O TY OV PRV NANN TIND

| liked very much to
play/playing with the children
and to tell/telling them
stories.

TION IN NI PN NYAIN2
N2

Next summer
holidays/vacation, maybe |
will fly to London

YN 127122 DY Y DINN IN IPIAN)Y

and (will) visit my friends
who/that live in the city
centre.

15
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GCSE Writing Foundation Tier

Question 1

NN 0IY NNYY SNAW NNAYNN

Y92y DDAV AYAIN IIND ITNNNNI NN

Lof1].[1] |
Wa NN Pl 5pens)
. [2 marks]

[of1].[2]
anae) 88 Qe ool (20
[2 marks]

[o]1].[3]
«N?’D, __]Q‘J ﬂ(\\}fﬁ AEY)
[2 marks]

[of4]. [4]

3¢ QI @3

[2 marks]

Question1 © iStock.com/skynesher
16
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Mark Scheme

Foundation Tier
Marks will be allocated in the following way at Foundation Tier:

Communication Content Quality of Conveying Application of Total
language key grammatical
messages knowledge of
language and
structures
Question 1 8 8
Question 2 10 6 16
Question 3 5 5 10
Question 4 10 6 16
Total 8 20 12 5 5 50

Question 01

For this question, students are required to write four sentences. Each sentence is marked according to the
following criteria. The maximum mark is 8.

[8 marks]
Mark Communication
2 The relevant message is clearly communicated.
1 The message is relevant but has some ambiguity and causes a delay incommunication.
0 The message is irrelevant or cannot be understood.

The following indicative content is an example of the responses that students may give to this question.

2 marks 1 mark 0 marks
— NN NN NN 022 DMIN 9212 - DMIN | [2 marks]
01.1
Apia
01.2 MPP VI OWOIN DN . DYI0IN ON D9 | [2 marks]
01.3 .M DN WY NN DY . MO DNY onY | [2 marks]
01.4 NDAD T 2V TN NDID T2 TN 72> | [2 marks]

17
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Writing Foundation Tier - Question 2

- lo]2 D35V NUAINN Yy NI DMINY DYDY DRN
. 1AM

YN NN e

IMNA NN e

onn e

TVINI DOV DNNND e

S193¥3 OO0 40-5 12170

[16 marks]

UL R oey a0 g eon e renk

% _O®I 0fsa 04817 1t k7Y
309 WA Q00 0D 0 I pra )

VAR BT A 0T AU a9 D 3i6y an
AN 20 i Fing 997 090ex e 3k

RAL 579930 el W LNk 38 KN
Vw200 Ui prs) 4o

18
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Mark Scheme

Question 02

For this question there are four compulsory bullet points, which are assessed for Content (10 marks) and
Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The student is
expected to produce approximately 40 words over the whole question. The number of words is approximate
and you must mark all work produced by the student.

[16 marks]
Content
Level Marks Response
5 9-10 A full coverage of the required information. Communication is clear.
4 7.8 A good coverage of the required information. Communication is mostly clear but
perhaps with occasional lapses.
A reasonable coverage of the required information. Communication is generally
3 5-6 .
clear but there are likely to be lapses.
5 3.4 A partial coverage of the required information. Communication is sometimes clear but
there are instances where messages are not conveyed.
A minimal coverage of the required information. Communication is often not clear and
1 1-2 there may be frequent instances where messages are not conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Quality of language

Level Marks Response

3 5.6 Uses a variety of appropriate vocabulary and grammatical structures. Generally
accurate.

5 3.4 Vocabulary and grammatical structures generally appropriate to the task, with some
attempt at variety. More accurate than inaccurate.

1 1-2 Vocabulary and structures used may be limited, repetitive orinappropriate. There
may be frequent errors.

0 0 The language produced does not meet the standard required for Level 1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Quality of language, but apart from that,
the Content mark does not limit the mark for Quality of language.

19
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Writing Foundation Tier — Question 3

Translation

F 03] Translate the following sentences into Modern Hebrew.

My brother is nice.

;
anhy P FH e Ded

| learn English and Hebrew at school.

Co0J0 pA NIk pddle IS Uk

| like to watch television. ) g‘ a 3
(1514¢ ﬂmw paik E

In my room there is a table and a chair.

ko>t \hdle ® g Daba

On Sunday morning | went to the park with my friends.

Vkaf o D312 pke) ad Ve
] had 1 T
| IJQ n "!A)hh .p.‘a

[10 marks]

20



AQAK

Mark Scheme

Question 03
The translation is assessed for Conveying key messages (5 marks) and Application of grammatical knowledge
of language and structures (5 marks), as specified in the criteria below. The maximum mark is 10. When
awarding the marks, the student’s response across all five sentences should be considered as a whole.

[10 marks]

Conveying key messages

Level Marks Response
5 5 All key messages are conveyed.
4 4 Nearly all key messages are conveyed.
3 3 Most key messages are conveyed.
2 2 Some key messages are conveyed.
1 1 Few key messages are conveyed.
0 0 No key messages are conveyed.

Application of grammatical knowledge of language and structures

Level Marks Response
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.

Reasonable knowledge of vocabulary and structures; more accurate than

inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this tier.
Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages mark
does not limit the mark for Application of grammatical knowledge of language and structures.

21



AQAH

GCSE Modern Hebrew Higher Tier — Question 1.2

-' of1]. DI9Y 9N AT IV MINAN NEYI3 072D DN
L 1IN

025w 13977 1053 MU D0amn one N
713R2N TIND
02N DY NNINNT DNy Nn

L}
L)
L
NN AW PN NN e

TN 2W TN 92 DY Y Lavaya oY 90-3 1200

[16 marks]

ae se, D) ) (2002 XS5 @ L) fc
&

F
.M e, 010 82 2108 (v, fué}#ﬁﬂ OS2 JiC

3N MMMMI 20 5 e, 00720
e/ zucn P20 1), 15D 1CL)) P/, NEND Ll 18 6]

. f’MﬂﬂlL{,..{LMﬂz). o)

05 £JIE8) e '§ p220) px MSMML);;M&

= L= =

£
J0ICILIC) "8 2N nic PA1,05 piC il 208 15)”
JEM&M@M £ 1) 426~

B, 0996 0120 U posé RUC HCI)) 1] $100
Poue puedl, SSIBRI 290, N3 7 2224 pLO"IN 2NGS ¢
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Mark Scheme
Higher Tier
Marks will be allocated in the following way at Higher Tier:
Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
language | language key grammatical
messages | knowledge of
language and
structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60
Question 01

For this question, there are four compulsory bullet points which are assessed for Content (10 marks) and
Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The student is

expected to produce approximately 90 words for this task. The number of words is approximate and you must

mark all work produced by the student.

[16 marks]
Content
Level Marks Response

5 9-10 A very good response covering all aspects of the task. Communicationis clear and a
lot of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is mostly clear but

4 7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

A reasonable response covering almost all aspects of the task. Communication is

3 5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.

A basic response covering some aspects of the task. Communication is sometimes

2 3-4 clear but there are instances where messages break down. Little information is
conveyed. An opinion is expressed.

1 1-2 A limited response covering some aspects of the task. Communication is often not
clear and there may be frequent instances where messages break down. Very little
information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

23
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Notes
There may be some imbalance in the coverage of the four compulsory bullet points but, provided at least some
coverage of all bullet points is evident, students will have access to full marks where the other criteria are met.

Quality of language

Level Marks Response

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

3 5-6

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different time
frames, although these may not always be successful. There may be some major
errors, and more frequent minor errors, but overall the response is more accurate
than inaccurate and the intended meaning is usually clear. The style and register may
not always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs
of the task. Sentences are mainly short and simple or may not be properly
constructed. There may be frequent major and minor errors. Little or no awareness of
style and register.

The language produced does not meet the standard required for Level 1 at this tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language. Apart from that,
the Content mark does not limit the mark for Quality of language.

24
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Please turn over...
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Higher Tier Writing — Question 2.2
OR Question 2.2

H [0]2].[2] " SR DPA-AMIN INND TN DY 10N 0320 0NN

2 s

N1 OV NN D marvnn e

MNY IO IINND o N e
NINWA MTIIN MNY DY Y Ayl DY 150-2 1302

[32 marks]

cd Eaic $5C 28 ) 25 KA arad ‘3D

ﬂl’lﬁ“\' s S Sied f-‘"ﬁ? A0IC WS S Aife v

PN 156 N80 97 ",‘-ltn.‘f'g',r.;ﬁ*! 0y WA NI

PN N@ NS e piaSn  td el "D PR 3

RIS :H(’.XS ?x”‘tB AR TSR Vo lolla AN B [ (SR & s
) Al e¥s VeoedCNa A lDd ey D) S|

Ao ‘ii%’wh 120 m';‘wg *;13;*\ s dg PR
wo [N 1Qo (Mg ’,\Gﬁ_g_l AANMN] 'gnf\% Si:“j\.ﬂﬁc 6
e Py PO Sicd M e Sengo e 83

s 36N~ peaG MG RN ANy Sac®

BTS2 B WUNE TSR AR N SRR L 411 W L2

.7? HWC PO '3 ant Dy PG Hio e

51 P13 D awes§ e o g FUe T DAIE
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DO c\ubh 10D \\mb 013 2GR M EO  imn T ired
FA90 €N fhng nien§ adlic e Se
RELVEEN m._'t\g\ ’?m

0 [“)5 D0

L I N IUA V3G

DR DN S(c e N %\;@e‘:&\mm e

yi
| =

DN Sienel ) N By e 8eDE e E058 psors i

e PO PO en e rasa 1) el zaoe
NUEA n% i\‘t(\ DO NS DAND ) AN > HsG%
O e o)) —}aSG %MS mb EAFSNEAL N PR ianed
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Mark Scheme

Question 02
For this question there are two compulsory bullet points, which are assessed for Content (15 marks), Range of
language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The maximum mark is 32. The
student is expected to produce approximately 150 words over the whole question. The number of words is
approximate and you must mark all work produced by the student.

[32 marks]

Content

Level Marks Response

An excellent response which is fully relevant and detailed, conveying a lot of
5 13-15 information. Communication is clear with little or no ambiguity.
Opinions are expressed and justified.

A very good response which is almost always relevant and which conveys a lot of
4 10-12 information. Communication is mostly clear but there are a few ambiguities. Opinions
are expressed and justified.

A good response which is generally relevant with quite a lot of information conveyed.
3 7-9 Communication is usually clear but there are some ambiguities. Opinions are
expressed and may be justified.

A reasonable response with some relevant information conveyed. Communication
2 4-6 is sometimes clear but there may be instances where messages break down. An
opinion is expressed.

A basic response which conveys a limited amount of relevantinformation.
1 1-3 Communication may not be clear and there are instances where messages break
down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at least some
coverage of both bullet points is evident, students will have access to full marks where the other criteria are
met.

Range of language

Level Marks Response

Very good variety of appropriate vocabulary and structures. More complex sentences
4 10-12 are handled with confidence, producing a fluent piece of coherent writing. The style
and register are appropriate.

28
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3 7.9 Good variety of appropriate vocabulary and structures. More complex sentences are
) regularly attempted and are mostly successful, producing a mainly fluent piece of

coherent writing with occasional lapses. The style and register are appropriate.
Some variety of appropriate vocabulary and structures. Longer sentences are

2 4-6 attempted, using appropriate linking words, often successfully. The style and register
may not always be appropriate.

1 1-3 Little variety of appropriate vocabulary. Structures are likely to be short and simple.
Little or no awareness of style and register.

0 0 The range of language produced does not meet the standard required for Level 1 at
this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from that, the
Content mark does not limit the mark for Range of language.

Accuracy
Level Marks Response
5 5 Accurate, although there may be a few errors especially in attempts at more
complex structures. Verbs and tense formations are secure.
Generally accurate. Some minor errors. Occasional major errors, usually in attempts
4 4 at more complex structures. Verbs and tense formations are nearly always correct.
Reasonably accurate. There are likely to be minor errors and there may be some
3 3 major errors, not only in complex structures. Verb and tense formations are usually
correct.
> 2 More accurate than inaccurate. The intended meaning is generally clear. Verb and
tense formations are sometimes correct.
There may be major errors and frequent minor ones, and the intended meaning is
1 1 not always clear. There is only limited success with verb and tense formations.
0 0 The accuracy does not meet the standard required for Level 1 at this tier.
Notes

(a) A major error is one which seriously affects communication.
(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from that, the
Content mark does not limit the mark for Accuracy.

29
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Higher Tier Writing — Question 3

Translation

F:f (03 Translate the following passage into Modern Hebrew.

On Shabbat, I invited friends to my house. We ate tasty food and after
the meal we sang songs. | prefer meals with family and friends because
it is more interesting. Next Sunday, | will visit my grandfather and we
will go to a museumn in the town centre to see a new exhibition of
paintings by a famous artist.

[12 marks]

bon bk uMk cfe NVAF PN ugly Dy waea

MDD %M‘( NIRRT ‘jDW“C he B UMY D) Ypkl 2 Y0

Ak g A fie) pld fLAN DAY D MNARL b Ren 2

Ad NNTD AN § N by \}1\:.’511\% P NI e £D0

SSONVIN NIk fe  py['9 de
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Mark Scheme

Question 03
The translation is assessed for Conveying key messages (6 marks) and Application of grammatical knowledge
of language and structures (6 marks) as specified in the criteria below. The maximum mark is 12. When
awarding the marks the student’s response across the passage should be considered as a whole.

[12 marks]

Conveying key messages

Level Marks Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level Marks Response
6 6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this tier.
Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages mark
does not limit the mark for Application of grammatical knowledge of language and structures.
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GCSE Modern Hebrew Speaking Foundation Tier
Part 1

Role-play 6 (Foundation Tier)

Candidate’s role

Instructions to candidates
Your teacher will play the part of your Israeli friend and will speak first.
When you see this — ! — you will have to respond to something you have not prepared.

When you see this — ? — you will have to ask a question.

NIYSIN 7Y DNATA 11NN

e NO'NX-NWOIN
o |

e [TnX LIS] —NI7'WO
e [TNX 0O9] — 7DIXND

e ?nyuT—m
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Role-play 3 (Foundation Tier)

Teacher’s role

s You begin the role-play.

¢ You may change the target language phrases given below only if the candidate’s response
makes them inappropriate.

s Remember that if you supply key vocabulary, candidates cannot be rewarded for it.

You must begin the role-play by using the introductory text below.
Introductory text: 717w n\hann "X .NIY9IN 7V 0N2TA NN .DI7Y

1 Ask the candidate where he/she likes to go on holiday.
7nwoIN? NRX7 N\anIXk N\NN K7

2 Allow the candidate to say where he/she likes to go on holiday.
I Ask the candidate with whom he/she likes to go on holiday.

?nwoIn nxx7 n\anix n\nx ' oy

3 Allow the candidate to say with whom he/she likes to go on holiday.
Ask the candidate what his/her favourite activity is. (Elicit one activity).

[Tnx L19] NwoIN2 NIYY? N\anIk N\NX NN

4 Allow the candidate to say what his/her favourite activity is.
Ask the candidate about food on holiday. (Elicit one detail).

7nwoIna 710K7 N\anik N\NX NN
5 Allow the candidate to give one detail about food on holiday.

.no!

?  Allow the candidate to ask for your opinion about hotels.

Give an appropriate answer.
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Role-play 12 (Higher Tier)

Candidate’s role

Instructions to candidates
Your teacher will play the part of your Israeli friend and will speak first.
When you see this — ! — you will have to respond to something you have not prepared.

When you see this — ? — you will have to ask a question.

27w n/MaNN X LTV QTR DTINAY 7V DN2TA 1NN

.

[Tnx V9] XaN N2NVD0Y7 NIDIN

e D2'0l NWT— YIX7 yIna D' TIR'Y

o 0> 7w nIAwNn

. ? IXW N TIAY
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Teacher’s Role

« You begin the role-play.

« You may change the target language phrases given below only if the candidate’s response
makes them inappropriate.

« Remember that if you supply key vocabulary, candidates cannot be rewarded for it.

You must begin the role-play by using the introductory text below.

Introductory text: 77w n/Hann X TNV NV 0mM? 20 00T NN DI

1 Ask the candidate what he/she intends to do next September. [Elicit one detail]

[Tnx v71D] 782N MANVD0 WTIND NIWYT TRDAYIRNM A\Nx an

2 Allow the candidate to tell you what he/she intends to do next September.

I Ask the candidate why he/she thinks exams are important.
PNaIWN NI'Na NVT? Ui

3 Allow the candidate to say why he/she thinks exams are important.
Ask the candidate if he\she would like to study abroad and why.

PYNT YINQ TMT7 On/nnn ONN
v

4 Allow the candidate to say if he/she would like to study abroad and why.
Ask the candidate if money is important or not and why.

?21WN [jod NYUT? DX 'Naon
5 Allow the candidate to say If money is important or not and to give one reason.
rantan aw
?  Allow the candidate to ask you about employment in Israel.

(Give an appropriate answer.
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Foundation Tier Paper 2 Speaking

Specimen 2019

Candidate’s material — Photo card
To be conducted by the teacher-examiner

Time allowed: 7-9 minutes (+12 minutes’ supervised preparation time)

Instructions

e During the preparation time you are required to prepare the Role-play card and Photo card
stimulus cards given to you.

e You may make notes during the preparation time. You must not write on this card.

e Hand your notes and both stimulus cards to the teacher-examiner before the next part of the
General Conversation. You must ask the teacher-examiner at least one question in the
General Conversation.

Information

e The test will last a maximum of 9 minutes and will consist of a Role-play (approximately 2
minutes) and a Photo card (approximately 2 minutes), followed by a General Conversation
(between 3 and 5 minutes) based on your nominated Theme and the Theme which has not
been covered in the Photo card.

e You must not use a dictionary at any time during the test. This includes the preparation time.

Card B image © iStock.com/Szepy
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Card B Candidate’s Photo card
e Look at the photo during the preparation period.

e Make any notes you wish to on an Additional Answer Sheet.

e Your teacher will then ask you questions about the photo and about topics related to jobs,
career choices and ambitions.

Your teacher will ask you the following three questions and then two more questions which you
have not prepared.

e  ?N1mna AN N\NX NN \IRN
e ?TWUN] NTIAY 7 YT NN

e 2yITi T'NYy2 ZI0Y7 '¥IN\NXN VIXPN NT'RA
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Teacher’s Notes

Card B Teacher’s Notes

Theme: Current and future study and employment
Topic: Jobs, career choices and ambitions

The maximum time for this part of the test is two minutes but may well be less than that for some candidates.
Candidates may use any notes they have made during the preparation time.

You begin the conversation by asking the candidate the first question ‘annnn 2uxn xn/n nx3/' nn?’ You then
ask the remaining four questions in order. You may paraphrase the questions provided the same meaning is
maintained, and you may repeat or paraphrase a question that the candidate does not understand. You
should allow the candidates to develop their responses as well as they are able. However, do not go over the
maximum time of two minutes for the questions and answers on the

Photo card.

01mn axn A\ nE an e

s 7TiURD Oy 7Y nuT on
 2urmni TV o7 Ominayan viYpn nraa
* 77w DMann ooy nna

20T KI¥NT TWOR 'R

Part 3 - General conversation

The questions on the Photo card are followed by a General conversation. The first part of this conversation
should be on the candidate’s nominated Theme and the second part on the remaining Theme from the ones
listed below. The total time of the General conversation should be between three and five minutes and a
similar amount of time should be spent on each Theme.

Themes for the General conversation

* Identity and culture

* Local, national, international and global areas of interest
Remember

It is requirement for the candidate to ask you at least one question during the General conversation; this can
happen at any time during this section of the test. If, towards the end of the General conversation, the
candidate has not asked you a question, you must prompt this by asking the candidate in Modern Hebrew, ‘Is
there anything you want to ask me?’
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Higher Tier Paper 2 Speaking

Specimen 2019

Candidate’s material — Photo card

To be conducted by the teacher-examiner

Time allowed: 10-12 minutes (+12 minutes’ supervised preparation time)

Instructions

During the preparation time you are required to prepare the Role-play card and Photo card
stimulus cards given to you.

¢ You may make notes during the preparation time. You must not write on this card.

e Hand your notes and both stimulus cards to the teacher-examiner before the General
Conversation. You must ask the teacher-examiner at least one question in the General
Conversation.

Information

The test will last a maximum of 12 minutes and will consist of a Role-play (approximately 2
minutes) and a Photo card (approximately 3 minutes), followed by a General Conversation
(between 5 and 7 minutes) based on your nominated Theme and the Theme which has not
been covered in the Photo card.

You must not use a dictionary at any time during the test. This includes the preparation time.

Card H image © iStock.com/Szepy
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Card H Candidate’s Photo card
e Look at the photo during the preparation period.

e Make any notes you wish to on an Additional Answer Sheet.

e Your teacher will then ask you questions about the photo and about topics related to jobs,
career choices and ambitions.

Your teacher will ask you the following three questions and then two more questions which you
have not prepared.

e  ?N1mna NN N\NX NN RN

e 2yITn ?7TIwna Ty 'yN\n¥ N oxXN

e ?uITn ?0'TIN'7 IX NTIAY 9TV NN
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Teacher’s Notes

Theme: Current and future study and employment
Topic: Jobs, career choices and ambitions

The maximum time for this part of the test is three minutes but may well be less than that for some
candidates.

Candidates may use any notes they have made during the preparation time.

You begin the conversation by asking the candidate the first question ‘ axn/' nn nx/n AaxN nmMNa ?’
You then ask the remaining four questions in order. You may paraphrase the questions provided the
same meaning is maintained, and you may repeat or paraphrase a question that the candidate does
not understand. You should allow the candidates to develop their responses as well as they are able.
However, do not go over the maximum time of three minutes for the questions and answers on the
Photo card.

*  ?D1Mna NN NN Nn R
« U ?Twna Tay? ninxan oxn
o 20 70Tt IK ATV OV N

7000 MINAT T2 MINNKT N AN

s 7T0MIVN TRV IX D20 INDYR TV 3N o0

Part 3 - General conversation

The questions on the Photo card are followed by a General conversation. The first part of this conversation
should be on the candidate’s nominated Theme and the second part on the remaining Theme from the ones
listed below. The total time of the General conversation should be between five and seven minutes and a
similar amount of time should be spent on each Theme.

Themes for the General conversation

* Identity and culture

* Local, national, international and global areas of interest

Remember

It is requirement for the candidate to ask you at least one question during the General conversation; this can
happen at any time during this section of the test. If, towards the end of the General conversation, the
candidate has not asked you a question, you must prompt this by asking the candidate in Modern Hebrew, ‘Is
there anything you want to ask me?’
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